PAPER - I1I

GEOGRAPHY
Note : Attempt all the questions. Each question carries two (2) marks.

G@HLY : eréver eflenmés@Ers@Eh el wallssea|b. geubeurarmlh@d @rear®h (2) wdHituearsar.

1. The area that is above water at low tide and under water at high tide is called
1)  Backshore 2)  Offshore
3)  Foreshore 4) Tidemark

Sowreefiflesr Gloed eumL FrgTrewT gewmewd SewrewfiT S GHUGLD GCeuslomer emeusar
SHUGLD @)L Sma eTelaumn JeysSCmmid?

1) srsefler Werym 2) saruilsremLw
3)  SHOrsE IJLUTe) 4)  gmaEM mass @LLb
2. Which of the following is considered as the first step for a number of geomorphic
processes?
1)  Fluvial erosion 2)  Wind action
3)  Weathering 4) Mass movement
alumiGEeT LHMID SreurmkiseT sSULemwoly C&Fwasmn Sipsereunmlsd  seunmledlmHg)
Qar_rIGSng.
1) ndlseflar gmfiiy 2) srmiler alamere sar
3) oo Hlameuler Flengeser 4)  QummaTseT 2 aTeTL RIS ClFwsasaT

3.  The Siwalik Hills have been made out of the debris coming from the
1) Himalayas 2)  Sutlej valley
3)  Ganga Valley 4)  Southern Peninsula

Slouredls; weveLILEG) 6T @I Sdler Flengaisearme 2 meuTsSIULLg).

1)  @uuwisme 2)  dlleverd LeTOTSHBTES
3) SEmS LaTSHSTSHS 4) QznE Susmuld
4.  The zonal soil type of peninsular India belongs to
1)  Red Soils 2)  Yellow Soils
3)  Black Soils 4)  Older alluvium
@il Susmu e uddleT e 6hg aemsmw Caihbsg)
1)  Hleuly wevwr 2)  LoEhaeiT LoguwT
3) &Ly L6uoT 4)  UGHLPW GUETOTL 6D LOGTOT
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5. In Northern Hemisphere, the wind balances the pressure force and the Coriolis force

by rotating ———————— around a low pressure system
1)  East to West 2)  West to East
3)  Clockwise 4)  Counter clockwise

&6y Qar@ssiu’L Ghluibhsmer Gsrsamr sflwurear almLomw sy Lblulear oL &s
uES aifldlarn gusswrarg wpmd QeEmyeuwelsd 9wssn wrhlorb aIBHEISTE ------nm-----
gl GPOES WSS STHNWISHLD 2 HOUTESNG)

1) dlysdle Glmhal Cuhe 2)  Cundled Qumbs SysE
3  @ral yndal@mhg aigi 4) gl UrSSlelmng GLgio

6. The Thornthwaite’s climate classification system was developed initially based on

1)  Temperature distribution

2)  Biological groups

3)  Albedo and rate of snow melting

4)  Precipitation and thermal efficiency

e g6aull LmausTeon uTGUOSSID Gmnew seaisurn GOINESng.
1)  Geuiu flemev udlirey U@L WTHMLD

2) eulfleomismer easlLGSSISET eI

3) 6GLr mmid vevell 2 (HESLD

4)  Guuiub wenpwrerg 1 uefGm Crrés b QaiussTnEnTLL 5T

7.  The Corioliseffect is caused by the

1)  Pressure gradient

2)  Earth’s revolution

3)  Earth’s rotation

4)  Earth’s rotation and revolution
QamflGwelerd Hr&ad gama NLIBHISING)?

1)  ognm @més ybluiler G eHu@GLD wrHmLd
2) il spm&d

3) il Hlasps Qsge

4 wih Hepe womh spnésl
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10.

11.

The average depth of equatorial-counter current is
1)  50m 2)  100m

3)  150m 4)  200m

BlonGl&6ager grmatl gy woLpud g6 ST allEs IjeTe)

1) 50m 2)  100m

3) 150m 4)  200m
Gulf of Alaska is in Ocean

1)  Pacific 2)  Atlantic
3) Indian 4)  Arctic

IS TEme HNMIWETET SL6d LG 6131?
1) udlidssLe 2) L eumeutTig HL 60

3 Ghdussed 4)  oyiressLe

The organisms that can synthesise their food by interacting with their environment

are called
1)  Heterotrophs 2)  Autotrophs
3)  Self dependent 4)  Consumers

sOoUm GpblmasasE gnm 2 e GUT@meTSsT NN 2 WITLEUTLeTSmeT @dmeuTd
Sn_lglll 606 6T6MEL?

1)  Qem Grliylerd 2) QL GLmlrlen

3) sarmearCw smihg ©)mSs560 4) o eore] QUIT@HEmET HISTGMTT

Which one of the following pairs are correctly matched?

1)  Latosols — scrubs 2)  Chernozem — savannas
3)  Sierozen — selvas 4)  Podzol — coniferous
S0y Qarhssiu’L @emamaefled g aflurs 2 efeorer.

1) GelGLQaev - erdalifllierd 2)  @&iGarrevib= SEUTEITTED

3) &arGear - Qaseured 4)  u@QETN - HTeNGLGrTWe
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12. Match list I with List IT and select the correct answer using the codes given below the

lists:
List I List II

(Philosophical Approach) (Scholars)
(a) Behaviouralism 1. R.J. Peet
(b) Humanism 2. 1. Burton
(¢) Quantitative Revolution 3. W.Kirk
(d) Radicalism 4. Y. F.Tuan
Codes :

() (b) (© (d)

1) 4 1 3 2
2) 3 2 4 1
3) 4 3 1 2
4) 3 4 2 1

&6y Qar@ssiulL Uiflals ang Uifle sflwures Qur®hssiuGSnsg.

Aifley - 1 Wifley - 2
(2) UPSSIPSSBISET 1. RJI
(b) uweafllsssetemn 2. | uflLed
© oidls ey sphsl 3. W. dliré
(d) odle gerey adlisEL 4.  Y.F. Quer

GO BSar

(a) (b) (© (d)

1) 4 1 3 2
2) 3 2 4 1
3) 4 3 1 2
4) 3 4 2 1
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13.

14.

15.

16.

An approach that privileges observation and experimentation over theory is

1)  Epistemology 2)  Empiricism

3) Hegemony 4)  Idiographic

soallsEn sarmn uflGergmer Qauwn wonser whp Casriurlaml  spaimuanils
6TEM6L 2_6UuTIT &gl cfl6ur meur.

1) erdleroLLomedgh) 2)  enbdflflegid

3)  GamlGumefl 4) e Gurdlrmis

Demographic structure of a nation is brought out clearly by

1) Bar graph 2)  Bar diagram

3)  Pictorial method 4) Age —sex pyramid

Q@ BrlgaT ol OGCwrssworar yerafll elarsansCsr@lysmer  6T&H6T el  [HTLD
SMEIGmmLb.

1) umr Syl 2)  umi e &lymid

3) W&sGLmfwed psmm 4)  eouwg — Qaded Ny

Physiological density is

1)  Population per unit of cultivable land

2)  Working population per unit of land

3)  Agricultural population per unit of land

4)  The density of livestock per unit of land

w&&6m CgTms GlnHSELD 6TeTLIS)

1) e ued alauatw flogdlar wssem Csmma

2) @ UG Blusdle Coumerunis@ waser CsTams
3) e UGS Hlasdlh 2 arer alleuamu weser CgTame
4) e ueduld flusdle srapmiular gy

Necropolis and Eopolis are terms used in the classification of cities by
1) Taylor 2)  Mumford
3) Berry 4) Harris

El&Grmuredled  womid  @GCwmumelled  Qlemen  @TEWIR  UTTSHMSHOT  HESTTEISEHEMLLI
Cougur@semer allerd@GElng ereirm snmlweu?

1) G 2)  wGumil

3)  Guifl 4)  emmfled
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17.

18.

19.

20.

What is the common practice involved in shifting cultivation?
1)  Use of sophisticated machinery

2)  Large scale use of fertilizers

3)  Utilization of poor soils through ploughing / fallowing

4)  Maximum use of animal power

orppl alleugmudbdHer SCLpueTemeuBsled 61gh CLITHIUTS 2 6iTengl.
1) sywrer peier &(hHalsmen LW6TLIGSHSHIH60

2) 9Fs Senaled 2 [RIGemeT LIWIGTLGESH3HIH60

3) 2 walBaETs SHIOMM LoewTenenT LILETLBSHSHIH60

4)  9IFs Senaled aleVmIGHMET LIWLGTLIHSHIHIH0

The most important centre of aeroplane manufacturing in the U.S.A is
1)  Detroit 2)  Los Angeles
3)  Wasighnton 4)  Philadelphia

o wirhg gemalleyerer Elireursd Qurmiy LY QaTaTmssmen HlemGommid SHeTeno 61568
JligliueoLwiled gjemodlng.

1) Glgmi® 2)  6umerd 6J(6hSF 6D
3)  eurdlmi_eur 4)  Oe@reofwmr

Which of the following statements regarding cotton cultivation in China are correct?
1) A growing season of about 200 days free from frost

2)  Intermittent rainfall during harvesting period benefits higher yields

3)  Rainfall of 500 to 1500 mm during growing season

4)  Mechanized farming and heavy irrigation is a common feature in the east
mgermals) LSS 2 nusd Qawiaudln &6y QarhssiulLamme g &l

1) umsd 2 musdh QawiusnE 200 priser 2 smmusflulledlmhg eldlulllmess GCousmr@HLd
2) el ® woyduigtd gydles gere uGmsSS 2 Nusdl GlEuwed

3) umSd eusTiGL GuTg wenpulleT jemey 500 to 1500 mm @\wm&e Geusr (Bl

4)  @uidrouorssiulL eleugmud s gere) Birauerd Qameausear SlpsE dlengullar
WS GemrTlEwiorel 2 aierg).

The greatest and the most productive industrial region in Asia is
1)  Southern Honshu 2)  Mumbai

3)  Shangai region 4)  Singapore
pfwraller gl gare| 2 MUSGSH QEuwse ww Qgmiflsdear Ksrh g ?
1) ogiear gears 2)  (pemu

3) RS UG 4)  Smsyir
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21.

22.

23.

24.

‘Lower class’ culture is an example of:

1)  Counter culture 2)  Contra-culture

3)  Sub-culture 4)  Dominant culture
STPSSLILLL wE&saflar sardamy eearug) egeflar ahisgssT. 6

1) (©)6METTTILITGIT S6VITESTITLD 2)  WIMULL SET&ESTILD

3) Uersmdlu sergam 4) GuGeommidy ser&arLd

Celtic, Germanic and Ural-Altaic language groups migrated to west because

1)  The expanding Chinese Empire disrupted the life of nomadic groups

2)  The grasslands of Central Asia dried up

3) They were pushed westwards when the eastern most groups moved west

4)  These were forced migrations which resulted from the slave trade

Slodigss, Qamomefls wHmId 2 76 - e s Qumflser Cusdlarn wsser GCuneE LGSmw
Crrad) @lpCuwiTdlarmmiser

1)  elflurssn gyoLbs maarm Gurrs: BTCLMgwrer wasaflear aumpdsamamw LrdliLamLw
ClFuIg60

2)  wsshw g fwreler ysQeusflsem aumemTL gmsd

3) geurser GuME umwrs sSeteriulLer elGUTWG sTeaTmmed IjeuTser Slipsalalmhg
QupLbumeTemLowmenr W&S6T Gnma Crréedl Qaarm CuTg

4) @s auemswrer @)L Lrmm waeseT wESuild e aurariludgma gnuBSSILG.

Who said “water is incomparably India’s greatest treasure and were this generally
turned into account she would be in the highest state of temporal prosperity”?

1)  Sir Arthur Cotton 2)  KL. Rao

3) SV. Ramamurthy 4)  WL. Voorduin

SewTewniit eTeOTLG 6( @ememnuileoens QerTsg g @UOCUTWE @ wrklagdar sneTals
aueTSems GSHIINGEMg) ety g gy Sl GBI EmmiT

1) &It QYTSIT S L eur 2)  KL. gme

3)  SV. @nmwepisd 4)  WL. garirdleur

Which of the following is a result of rapid industrialization and urbanization?

1)  Urban decay 2)  Rural depopulation

3)  Rural degeneration 4)  Urban depopulation

Qamfled smwwddler auerreFwmraid permseaflar Carmngdlearme snulL alleneTe e eTeueor?
1) mEer wESug 2) dlymw wssar &fley

3)  dlymwo efipadl 4) ST LEHS6T (GmMme
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25. When was the 74%* Amendment to the constitution came into force?
1) 1993 2) 1995
3) 1997 4) 1999
@idw grfwed gemwillsr 74 guib &L 6hS Y emngsd ClemsmTGleuriulLg)
1) 1993 2) 1995
3) 1997 4) 1999

26. The transhumance is still an important component of the socio-economic life of the
people in regions of

1) Andaman and Nicobar Islands 2)  Orissa
3) Jammu and Kashmir 4) Lakshadweep Islands

LymergGlosied eTerm wsSaflear s GUT@meTTSTy aumpsmasullear (S Ybsors
SHSLLDeUG 616 6T LGSHUled 2 aTer L&ES6T SnmiSmmiaei.

1)  omgwrer HlaCasrun deygser 2) efler
3) o sTeLliT 4)  el&gge SusmuLd

27. In Christaller and Losch’s central place theory, regions are defined as
1)  Hierarchical systems of central places or cities
2)  Each region has a small number of large higher order cities
3)  Each region has a large number of smaller lower order cities
4)  All the above

SliflerdLmeum LMD euredd S Cariur® kg wrsTansms 2 nSuGSSSIng)
1)  SpulLgdledlmng GuewlLgg muw uGdulld 2 wr&snipw BSTEST

2) ealarm wLIESIYD SN araismsulle o wikg eTellsd  HETEISeT
3| emLodleuTmeur

3)  eaGaurd LIESIEISEHD Igle erallarear Gmnbs HSIHEIST 2 6T6rer

4)  GuGe 2 aTaTemel I|6METTSHSILD

28. National Institute of Rural Development and Panchayati Raj is located at
1)  Mumbai 2)  Dehradun
3) Hyderabad 4)  Kolkata
Slymoiym euerT&d] ughemusgg mre) CuuTl @ S L Hyeend g ywbgicrorg: ?
1)  pemu 2)  GL&gLar

3)  oamsrTuTs 4) OsrassET

MO0803 10 H



29.

30.

31.

32.

Gulmarg is a hill station in
1)  Himachal Pradesh 2) Jammu and Kashmir
3) Maharashtra 4)  Tamil Nadu

(S60LOITE 6T6UTM LOEMEVLIGS 6TEIG 66T &)l
1)  @uuwme LGd 2) sy LHYLD sSTeLT LGS
3)  LSTITeRRTT LTEleLD 4)  sllpsr@

Which of the following is not a peninsular river?

1) Narmada 2)  Krishna
3)  Mahanadi 4)  Yamuna
SUSMHULD I|e0eumd @IL LD 6T ?

1) Eiogm 2)  dlmepewrm
3) wamkg 4)  wpeorm

The Aravalli Range run accross which of the following Indian states of
1)  Gujarat, Rajasthan, Punjab and Delhi

2)  Rajasthan, Madhya Pradesh, Punjab and Delhi

3)  Gujarat, Rajasthan, Haryana and Delhi

4)  Gujarat, Rajasthan, Uttar Pradesh and Delhi

24766060l MASESTLTEH6T @hSlmails 6mbs wrblomisetls Gss&limrmeor.
1) G2ITS, @rraadaTeT Leheml nmnib GlLeedl

2) @nraadgrer, wsdw NrCss ueheTl LHMILD GIsdedl

3)  ©ars, @rrasugmer, anflumsrT wHmib GlLededl

4)  GaITs, @rrasugner, 2 SHrilTCsed wnmid el

Which among the following river is said to be the Life-line of Sikkim?
1) Sankoshriver 2)  Brahmaputra river
3) Teestariver 4)  Dharlariver

63 Blemw el aurpsms Car® eaTn IempsslGnrid

1) sme kg 2)  Umoysdrm md

3)  lesOLT B 4)  gmiter B

11
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33. The first operational Indian remote sensing satellite and the year in which it was

launched is
1) INSAT-2D, 1997 2) IRS-1A, 1978
3) IRS-1A, 1988 4) INSAT-2B, 1993

Llildlmhg Qussiu@ Qarmegnr @hdw gesmemuilar GLWIT eaTEr? o9& 6bS
QUHLLD TRILILILL )17

1) @erer’ -2D 1997 2)  sm.gy.eted -1 A, 1978

3)  &.9grete0 -1 A, 1988 4) [@ererl -2B 1993

34. The data that are collected directly in the field is called
1) Remote sensing data 2)  In situ data
3)  Exsitu data 4) Both 2and3
Crrgwirs o sameamer seTgdle @n&dl geunmledlmhEg TESSILGL Sa66d sTameu?
1) MAGur’ Geerdlm GLLLm 2) @eardl@® GLlim
3)  erderdll GuiLm 4) @rewi® 2 wHmid 3

35. What is the conventional level of significance typically adopted in hypothesis testing?
1) P<0.05 2) P>0.005
3) P>0.001 4 P>05

SisTemsuuiled gy STTLMM Jjemiomsr gprmisslamn BlmasEn Curg Wy IieTmeasE el
WeSwsgiald QasrhsECnTD earLma 2 6T dg)s.

1) P<0.05 2)  P>0.005
3)  P>0.001 4 P>05

36. ERTS-I was launched in
1)  June 1962 2) July 1972
3) June 1982 4)  July 1992

ERTS - | stliQUm (gl eTuliu’ L g)?
1)  egueor 1962 2) egeemev 1972
3)  sgeai 1982 4)  spemen 1992

MO0803 12 H



37.

38.

39.

40.

Earth's average orbital speed is about

1) 10 kilometers per second 2) 20 kilometers per second

3) 30 kilometers per second 4) 40 kilometers per second

wul erref] searsE CeausflCw abg Cassdlen anml aimslng?

1) e alarmgsE 10 SlGom WL 2) @ alarmedE 20 SlGem iLr

3) e alarmed@ 30 SlGer WiiLm 4) e elarmede@ 40 SlGem i LT

The long deposits of eroded glacial material which are formed by sub-glacial streams

that deposit material are known as
1) Moraines 2)  Kames

3) Eskers 4)  Drumlins

uefl  ofliy  Gur@metsst Mo mreT SERSWIGHES @@ glewewr uaflSslly eELWITS
LTMIdGUTE FHUMGLD sTEheu QuIT(hEmE@ sTeoTear GILwIT?

1)  Qumsoireterd 2)  amblerd

3)  ereaiad 4)  Cmbedevierd

The book titled ‘The Morphology of the Earth’ is written by

1) W. Penck 2) L.C.King
3) E.H. Brown 4)  W.M. Davis
Wblulleor omiGusomsrdl 6TeoTm LSSSSMS 6T(QSILISUT wimit?

1) W. Guaird 2) L.C &

3)  E.H. Ureueor 4)  W.M. GLgllerd

Eustatic concept was propounded by

1) King 2)  Penck
3)  Suess 4)  Brown
WLEOLTigds 6T6UTM S(GSHMS SnMliieu Wimit?

1) &m 2)  Guers

3)  wdlad 4)  Lyeyer
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41.

42.

43.

Laplace theory of Origin of the earth is known as

1)  Nebular Theory 2)  Inter Stellar Dust Hypothesis
3) Big Bang Theory 4)  Tidal Hypothesis

Wlullsd emriiGeverd steoTm GamlurlenL g6 spLSlHlSmmiT?

1)  mrmidert Garlumr(® 2)  @STLIT edle6l LeDL smemLITE e 6
3)  Ws6um il 4)  eOLL6 emamumdaer

Rossby waves are formed due to

1)  polar air move towards the equator
2)  tropical air move toward poleward
3) both1and?2

4)  none of the above

CrmerbenLl Q|emeVsseT ETSHETE 2 (THeUTGSSIME)?

1)  euLgimeub geeg) Qger Gimausdlolmnag florhstasr a Crred aisdng
2)  Geuliu WemTLe STHM UL GIHeud QFaTgImaudsms Crréedl aisdng

3) @rewr - 1 wHmib 2

4)  GunEfu agieun Geme

Norway experiences warmer temperatures and more precipitation than expected at
such northern latitudes. It’s because of

(i) Prevailing westerlies

(i1) Jet streams

(i11) Gulf stream current

(iv) Inter-tropical convergence

Select the correct answer using the codes given below.

1) (i) and (iv)

2)  (iil) and (iv)

3) (i) and (ii1)

4) (1) and (iii)

By mr@ QeuliLwrs CaraimeausnE srreed @EETH Hlorhs6ar iwallmhg QsnG
Slengulled Qb wenwp usfl WsedlwemmdleT sTrwTsaILD LHHILD

@) Guhe smm WSS

(i) olGeussLomenr BT eevLSHe6ir

(iii) QugpbumeTenowmeer Kleold @ eured gn L LI (D66 S

(iv) @eLiule Geulil Wi STHn Qb muwgms Crréd Canaaisme
GGl GHET@SHHLILL BeTer GO 1960 2 airar Flwres aflenr_ew Cziay CFils.

D @ wpgud (1v)

2) (i) wpmubd (1v)

3) (i) wpmb (ii1)

4) (1) wpgrp (i11)

MO0803 14 H



44.

45.

46.

‘Willy willies’ are tropical revolving storm in

1)  Western arctic Ocean 2)  Atlantic Ocean

3)  Antarctic Ocean 4)  North-west Australian waters
allsvedl allsds0lerd GeuLiLI LOGTTL 0 WSS LIWIED6V 6TEIS 2 (HeUTEGSNS?

1) GCumg o ip&sL el 2) Ol eumsmipd; &L 60l6d

3)  SewiLmiTS SL6dled 4) e &@ Gung gy el GredlweT sLedls

Troposphere is the hottest part of the atmosphere because
1)  Itisclosest to the sun

2)  Heat is generated in it

3) Itis heated by the Earth's surface

4)  There are charged particles in it

6uMW| LoGwTL 6uLD 6y6uT LAl Qeuliuoms smemriLBEing

1)  Glum&e imsramuoulls 2 erergme

2)  Qeuli sumuy wemTLuggled 2 6TGer 2 (mHeuTsITHTed

3)  yble Ged Cammmadler 2 eier GQeuliLid

4)  9mE Qauliusmg Casdlmas @ a LGS 2 ararg.

The stabilization of the atmosphere in its present form took place in the

period.
1)  Paleozoic 2)  Archean
3) Cambrian 4)  Pleistocene

yeiluwed Blemev 2 arer Gamedgemarun sumilidlsieumosn 9y &ESag! 6T81?
1) uredQurGemis 2)  gyirélwer

3)  Gawlywesr 4)  NedlerbGLGQ&eur
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47.

48.

49.

The correct sequence of the natural regions of Brazil from north to south is

1)  Amazon Basin, Brazilian Highlands, Campos, Mato Grasso Plateau

2)  Amazon Basin, Mato Grasso Plateau, Brazilian Highlands, Campos

3)  Brazilian Highlands, Mato Grasso Plateau, Amazon Basin, Campos

4)  Mato Grasso Plateau, Campos, Brazilian High Lands Amazon Basin

oL sHlelmEg QanE NCrélase Qe Gw o arer @unamawrer Lsdlsmen auflensubhsgis.
1)  emwmrer Gudler, NGrTHledlweT manGuen’, QanGueb, LTaTELflrGsm KNG GL

2)  Semwgmer Gudler, raTQLSTGm Her G, NCTHadleT oanGaen, GaGUTED

3)  LQrdledwet evamnGaer, wrGL SlmedGe Har Grr, Imwarsr Cudler, CabGumed

4)  wmerGL SlymerdGer Her Grm, CaHnCuTed, NGTSleOlweT man o, Jjeowarer Gudler

With which one of the following is ‘Maitri’ associated?

1) HYV of rice 2) SAARC

3) Indo-Russian Treaty 4)  Antarctica Research Centre
&6y Car@&siulLamauseaflsd Qi srern eumTsma eI aT GlSmLTsmLwg)?
1)  HYV gfid 2) a&nis

3)  @erGLr-TERWT 2 L 6TLIp&H6ms 4)  QEmILmT Ips gLumisd] eniowib

The average salinity between 50° to 70° S latitudes is
1) 33%-34% 2) 34%-35%

3)  35%- 36% 4)  30%-31%
gnr&itl 50 wpged 70 2 LSS 6T 6T6u 60T ?

1) 33%-34% 2)  34%-35%

3)  35% - 36% 4)  30% - 31%

MO0803 16 H



50.

51.

52.

53.

54.

The term denoted by the American geographer Richard Hartshorne that is the study
of relations between things in a particular region is

1)  Chorography 2)  Chora

3)  Chorology 4)  Ontology

ICuwfsareler yelullwe eusdeneri Mgt ST Garar QL SdhE abHmeuTdy IEiG6Tem
sllemisasafler sreurmigeT suaridlarmer steumenm GDIINSmmT.

1)  GCamyrdlymal 2)  Gamym

3) Gamymeorsd 4)  gerGLmeursll

Who is put forward the statement of ‘History is a narrative and geography a
description’?

1) Kant 2)  Bonn’s
3) Semple 4) Ratzel

S Oar@sslulLaiiseatled eugory serug Qaromdln alegwd yallullwed ererug
sleuflaam g e60TM 6T60TM WITT &nmilmmiT?

1) &mert 2)  Ly6oren

3)  Gabded 4) TLQ&6d

To which country did Jean Brunches belong

1)  France 2) UK

3) USA 4)  Germany
6T BT(H sle Lreaed 2 mugd CQauisng.

1) Sgmererd 2) asdusrhser
3) 9 Gufl&ésr 4)  Glsyitwoeuf]

Who introduced the idea of a sundial known as ‘Gnomon’ into the Greek World?
1) Homer 2)  Thales

3) Anaximander 4)  Hecataues

F6TiglIe0 6Te0TM SH(HGmS Fl0lermGlo eTeTm HCTTES 2 0&HS5FI5E 2- 60T S leum wiri?
1)  emuof 2)  Ggeverd

3)  oerselohsi 4) QeamsLLmerb

The first Greek Scholar to have drawn a meridian on the world map

1)  Herodotus 2)  Plato

3) Aristotle 4)  Erastosthenes

s EGrss g rmisureri 2 sl Sl CLTiger aarm Cam L s ELlpS e wir?
1)  efGrrLmlerd 2)  WGer GLm

3)  ofledlLmiged 4)  @rmerdGLmdleurerd
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55. ‘Wedge like expansion’ is the example of
1)  Concentric zone model 2)  Sector model
3)  Central place theory 4)  Multiple nuclei theory
Qeulsh allyd allfleurssid asmemLil dHSSISSTL D
1)  erartgearfls Gamarom_ s 2) Q&sLmT L6
3)  Gaearre NGeerd dluwifl 4)  wevigliled Bluyeledl Swifl

56. The human islands in the deserts are called
1) Oases 2)  Yurts
3)  Ergs 4)  Regs

wefls eurermiler CarTHmssleT gLy eTerm ereumsmm &g GmiLd.
1)  eumssd 2)  wyiilen

3) e 4)  Méed

57. Who studied the urban economic base using the concept of basic and non-basic

activities?
1) Haggerstrand 2)  Harris
3) Alexander 4) Nelson

SlgliuewL  Es7  GQurrertgrrsdler  Csmatmasmer  ager  GOFTLTFHwrsad wHMID
QarLirgSullevreno Lmml S mlweur wiri?

1)  Gemsisorme(H 2)  ammiferd

3)  IGuEemeutTLiT 4)  Omeoger

58. The first stage of the history of human evolution is
1)  Australopithecus 2)  Homo sapiens
3) Rampithecus 4)  Homo erectus
weflg eurermiler Carhmsdler oLy eTerm sTeumemm &GS CmmLd.
1) oelgrGe Mgdleer 2) GamrGur GCaTwerrerd
3)  gmbigdlea 4)  GamrGumr 6TIL L 61

59. High level managerial and executive administrative position falls in the category of
1)  Primary activities 2)  Secondary activities

3)  Tertiary activities 4)  Quaternary activities

o Witsy Hiteurs Hpeno  BpILd  OFmeTendsemen  HeBGauBpId  Hmeir  eTH6
SIgLILIMLUl6d SIMLOSBS.

1)  (waaiemwwmer OFuweoLmBael 2)  GJewiLmD euemdWTer GFweOLITHSH6IT

3) CLPGIIMBTD  GUENSWITET  GIFUIGOLIT(HEBEIT 4)  PBISISTD euensWTer GFuweLLITHEH6IT
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60.

61.

62.

Weber’'s model of industrial location has been usefully applied to interpret the

changing location of the British
1)  Iron and Steel industry
2)  Cotton textile industry
3)  Ship building industry

4)  Heavy engineering industry

Qeuliuierd LomLellenT mETSSET GaThled FTmasaflar gmu@L kst @ridloridlar Gsmhls

el smwwkiseflsr Lrmmsdng Slipsam_aumnfls e nUGSSWS.
1)  e@ @@y QamlogTeameaset

2)  umsd mas0smilhgrmagst Gurmerseaflar GgmlseTameus e

3)  &lus sLGh Qgmilsarmessi

4)  odls srorer Qukdlriser GEuwn Qamifled Eramasar

Soft wood 1s mainly supplied by

1)  Coniferous forest 2)  Deciduous forest

3)  Siberian Forest 4)  Central American forest
lmgieureer wrmsaTr 6% SrLseflelmbg) SlenL &dleTmenr?

1)  sreflelyn sr@ser 2) QLdlLeuerd sr@hsar

3)  ewaliflear sr@ser 4) wsHu g Quilssr srhHser

The average size of landholding of Scheduled Tribes is

1)  Higher than the Scheduled Castes

2)  Lower than the Scheduled Castes

3)  Similar to those of the Scheduled Castes

4)  Higher than the other backward classes

LGl Ullelr L&S6T QIOT6IEHSE) tTeleaaTa [HlovmisEemen meugg @)(maSImmiaer
1)  smpssiu’L wssmeralll Hleon gflswnrs meugg o eTermiser

2) SMPSSULLL wEsmeTalll GmnES Ii6Tey Bl a6 emmiTaeT

3)  STPSSULLL ITSEHESE @I6mEuoTTs

4)  Vergrdu augllarismeral. gidlswrs Hlemigmen meldgmemTiser
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63.

64.

65.

66.

67.

Name the most accurate method of dating human fossils.

1)  Pollen analysis 2)  Carbon dating
3) Sediment dating 4)  All of these
werflgefler wommeas@ UneG WeaTunmuL & gl STEEISET 6Teneu?

1)  Gurewer IjeoTmedlerem 2)  amiueT GLL g

3) G&pbler GLL g 4) GG 2 ETATENE I|ENEITSHGILD

The task to explain or account for the variation over space of the voting decision lies
with

1)  Urban geography 2)  Cultural geography

3)  Political geography 4)  Social geography

2 a5l ursCsHLIaTUY (WmnWTaTg fmg mauggl Hiramilssiu@&ng ?

1) maryr yelulwed & miser 2)  uewuml® yellullwed & miset
3)  owwed yailullwed s miser 4)  eusm yaiullwed s.miger

Who among the following divide the earth into major natural regions according to
climatic parameters?

1) Ptolemy 2)  Strabo
3)  Herbertson 4)  Ritter

il s flmasmerseflar Coupur@esmst QUTBSS aiCurm Qunms LGSsmer Lyl
veUTsEIsns Lflsdlearmer sarm g dlweum wmi?

1)  Lmeudl 2)  eolpGumr
3)  QemiTuierdL eor 4) Ml

The theory of Multi-nuclei is formulated by

1)  Harisand Ullman 2) Homer

3) Burgees 4) Bey

LOGOL Ig Bl stTm QameTemas 2 (HeuTSILL LG
1)  emmrfled wHmib 2 6TGlLoeT 2) Geammwi

3)  uiT&en 4)  Quifl
Functional Region are defined by criteria

1)  Physical 2)  Social

3)  Static 4) Dynamic

EeL (peonU@SsIU L Arrhdlwid eern emhg srramiamu GDIINEEICnm.
1) yelullwed 2)  FUYSTWLD

3)  euerir&&lullestenio 4)  euemir&umer
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68.

69.

70.

71.

What is the total estimated length of Sahyadris which run parallel to the west coast of

India?
1) 1,600 km 2) 16,000 km
3) 600 km 4) 160 km

Cunm@ sLmsmr ILTs Gemawnurs O igw Fwrliflad wamaasTLiTdd] odzamer

SCoomi LT My geTelsd LTHSI6T TSI
1) 1,600 km 9) 16,000 km
3) 600 km 4) 160 km

Which among the following passes connects Himachal with Tibet / China?

1)  Traill’spass 2) Thanglapass

3)  Shipkilapass 4)  Zojilapass

@uow wameuwledEhg HOUS anflure maarm Gumi CHT&Em IgWw LTS 6Temeau?
1)  Leoywed eufl 2) smseT sl

3)  dlldleor aufl 4)  Geyrefleor aulfl

The National Dairy Development Board (NDDB) was started in the year
1) 1951 2) 1965

3) 1977 4) 1981

BT g 60T LIT6OLIGUTE0GUOT  6U6TITES] 60LOWILD 6T (B Sl6d GleumiasILLL g)?

1) 1951 2) 1965

3) 1977 4) 1981

EPZ is expanded as

1)  Economic Project Zone

2)  Environmental Protection Zone
3)  Economic Powerful Zone

4)  Export Processing Zone

EPZ @eumdlesr ellifleurdeid ereureor ?

1)  Gumr@ermamy Sl e sl

2)  S&HmIOYT @60 SlL L06wTL 6uLD

3)  Qum@erTmy (et GCarMmLD EWL B LOGTITL 6ULD

4)  emmudleow eueTiLBSSID L6wTL LD
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72. Thematic maps are otherwise known as
1)  Photo maps 2)  Composite maps
3)  Strategic maps 4)  Pictorial maps
@M L sreddld 2 aTer eUMILLSMS craiammy I|6MPSE6MLD
1)  GumlGLm Guwriev 2)  &m6uUTL Guwriav

3) eGriLeflé Guwriev 4)  9&CLmred Guriav

73. What is the contour interval on toposheets with a scale of 1:50,000?
1) 10 metres 2) 20 metres
3) 50 metres 4) 100 metres

GLriGual geme) 1: 50,000 stetrmmed oygH6uT @lemLLILL L. 6Te0smeGaHT(H 6TaLIaET 6| ?
1) 10 ufiLirerd 2) 20 Wi Lired
3) 50 WiLirerd 4) 100 uiLiTerd

74. Which of the scales can be understood in every country?
1)  Graphical scale 2)  Statement scale
3)  Representative Fraction 4)  All of these
seGleur [, BrOS6fle ehg geresamen arLnmUBSng
1)  euemTUL 9|6Temel 2) GEWISE I|6TEn6

3) Urdlflflsgieud eumings gjereneu 4) GuBon @I L 9 emer&giD

75. What is the altitude (km) of most of the satellites placed in a sun synchronous polar

orbit?
1) 300 to 1,000 2) 6,000 to 9,000
3) 22,000 to 36,000 4) 30,000 to 36,000

sToysemenullent ey HlGour WL LT CousdgsE Ismmw QFh@GSs CaTligar 2 Wi 6hg
geralng SleardmSlCrrenflar g  wTLSHNG @ SHrssdlar  SHMUTmSW
SLEGL CUTE 9|SEMIMLIL 66| 6T60T 60T ?

1) 300 to 1,000 2) 6,000 to 9,000
3) 22,000 to 36,000 4) 30,000 to 36,000
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